Virginia High School League District Competition, 2000-01 season

Match #7


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the District level by Shawn Pickrell. These questions are to be used by individual Districts to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups 

1.
The poem Song of Joy are the words to the last movement of Beethoven’s Ninth Symphony. The poem itself was written by what German philosopher and poet?

ANSWER: Friedrich SCHILLER
2.
What French Romantic painter painted The Massacre at Chios and Liberty Leading the People?

ANSWER: Eugene DELACROIX
3.
This element with atomic number 43 is used to absorb slow neutrons in reactors. What is this element, the first artificial element to be discovered, with symbol Tc?

ANSWER: TECHNETIUM
4.
THIS IS A COMPUTATION QUESTION. A line is drawn between (1,4) and (4,6). What is the slope of a line that is perpendicular to this line?

ANSWER: NEGATIVE THREE-HALVES
5.
What war was begun in October 1973 by a surprise attack by Syrian and Egyptian forces against Israeli troops on the most holy day of the Jewish calendar?

ANSWER: YOM KIPPUR war

First period (continued)

6.
This London building boasts the largest roof ever built, but has failed to attract large crowds save at its opening and closing, after which it will go to a private developer. James Bond, in his latest movie, slid down the roof of this building while dodging machine gun fire. What is this dome, which opened on January 1, 2000, and is named for this fact?

ANSWER: MILLENIUM DOME
7.
Methylene oxide is another name for what common substance with chemical formula HCHO used as an embalming fluid and a disinfectant, most commonly associated with biology lab dissections?

ANSWER: FORMALDEHYDE or FORMOL or METHANAL
8.
THIS IS A COMPUTATION QUESTION. Given a right triangle with sides of 6, 8 and 10, what is the sine of the angle between the sides of lengths 6 and 8?

ANSWER: ONE (the sine of 90 degrees or PI/4 radians is one)

9.
Winthrop was Governor of Arkansas. Nelson was Governor of New York and Vice-President under Gerald Ford. The patriarch of this family retired from the oil business in 1897 and created his foundation ‘to promote the well-being of mankind.’ What is this name, associated forever with Standard Oil?

ANSWER: ROCKEFELLER

10.
This seven-letter word applies to the part of a lock that releases the bolt when the key is turned, to a piece in a gunlock that forces the hammer forward by action of the mainspring, a flat-bottomed glass having to handle, foot or stem, and lastly to an acrobat or gymnast?

ANSWER: TUMBLER
11.
Dihydrogren monoxide, or DHMO, causes death due to accidental inhalation, even in small quantities. Prolonged exposure to solid DHMO causes tissue damage. Gaseous DHMO can cause severe burns. It contributes to erosion and is a factor in El Nino. What is the more common name of dihydrogen monoxide, which can be figured from determining the chemical formula of dihydrogen monoxide?

ANSWER: WATER
First period (continued)

12.
THIS IS A COMPUTATION QUESTION. What is the product of the reciprocals of ¾ and 1/8? (three-fourths and one-eighth)

ANSWER: 32/3 or 10 and 2/3 (thirty-two thirds or 10 and two-thirds)

13.
When a filibuster is occurring, Senate members who wish to see a bill passed can attempt to vote on what action, which requires a three-fifths vote and means that the Senate has to stop debating on an issue?

ANSWER: CLOTURE
14.
A medical student in 1817, he was a published poet soon after, but died of tuberculosis in 1821 at age 26. His breakthrough work, Endymion, was widely criticized, but the poems in Lamia and Other Poems are his most famous. Who is this poet, who penned The Eve Of St. Agnes, Ode On A Grecian Urn and Ode to a Nightingale?

ANSWER: John KEATS
15.
What is the name given to the school of philosophy founded in the 12th century that sought to combine Classical Greek philosophy with Christian thought, and whose members included Duns Scotus, St. Anselm and St. Thomas Aquinas?

ANSWER: SCHOLASTICISM
Second period: 10 directed questions (TSMOE, MOETS)

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
Lanthanides and actinides are the two types of what elements which can be found in two separate rows at the bottom of the periodic table?

ANSWER: RARE EARTH elements

1B.
Given the statement “If p, then q,” what is the term applied to the statement “If q, then p?”

ANSWER: CONVERSE
2A.
Ciudad Juarez is a city in Mexico across the Rio Grande from what city in Texas, situated at the westmost tip of that state?

ANSWER: EL PASO
2B.
Who is the pro-choice governor of New Jersey that George W. Bush has recently named as director of the Environmental Protection Agency?

ANSWER: Christine Todd WHITMAN
3A.
What letter designation is given to represent the main disk drive on most Windows PC’s?

ANSWER: C
3B.
What 1868 novel concerns the five daughters of the March family?

ANSWER: LITTLE WOMEN
4A.
The main trinity of Buddhism consists of Brahma, Vishnu and what god, named “The Destroyer?”

ANSWER: SHIVA
4B.
What adjective is used to describe water that contains calcium and magnesium salts, which can form insoluble deposits in boilers and form precipitates with soap?

ANSWER: HARD
Second period (continued)

5A.
We Real Cool is the most famous poem of what recently deceased African-American poet?

ANSWER: Gwendolyn BROOKS
5B.
September 17, 1862, was the date of what Civil War battle fought in Maryland, the single bloodiest day of the entire war?

ANSWER: ANTIETAM
6A.
Bauxite ore is mined principally to obtain what element, used to construct aircraft and make cans?

ANSWER: ALUMINUM
6B.
The quantity a to the nth power is equal to 1. For what value of n does this equation hold true for all non-zero values of a?

ANSWER: ZERO (remember, any number to the zeroth power is 1)

7A.
The Albany Regency and Tinderhook are most associated with what President who followed Andrew Jackson?

ANSWER: Martin VAN BUREN
7B.
Who is the French composer that wrote The Afternoon of a Faun?

ANSWER: Claude DEBUSSY

8A.
What is the name given to an angle of between, but not including, 90 and 180 degrees?

ANSWER: OBTUSE
8B.
Who is the author of the satirical novel Lolita?

ANSWER: Vladimir NABUKOV
9A.
What musical symbol looks like a pound sign and is an instruction to raise the pitch of a note by a semitone?

ANSWER: SHARP
Second period (continued)

9B.
What is the method of transferring liquids from one level to a lower level relying on a liquid-filled tube to first raise the liquid from the higher level before lowering it to the lower level?

ANSWER: SIPHONing

10A.
What are the first names of the two traveling companions in Of Mice and Men?

ANSWER: GEORGE Milton and LENNIE Small

10B.
What is the name given to the type of criminal defense where the defendant claims to have been elsewhere at the time of the crime?

ANSWER: ALIBI
Third period: 15 toss-ups (MTEOS, TEOSM, EOSMT)

1.
THIS IS A COMPUTATION QUESTION. A running back gained 900 yards as a rookie and 1,100, 1,200 and 600 in his next three seasons. How many yards does he need to run in his fifth season to obtain a career average of 1,000 yards per season?

ANSWER: 1,200 (he’s got 3,800, needs 5,000 to maintain the average of 5,000)

2.
A high pyramidal mound was constructed in stages, with a shrine at the top. Access to the shrine was through a series of steps constructed externally on the mound. What is the name given to these structures which were constructed in many ancient Mesopotamian cities?

ANSWER: ZIGGURATs

3.
What seven-letter word is used to describe a local branch of a club, fraternity or organization, or one of the numbered main divisions of a book?

ANSWER: CHAPTER

4.
The wall is prepared with layers of plaster. The next to last layer contains the artist’s design, and only on the last layer does the artist actually paint. What is this ancient painting technique, perfected in Renaissance Italy, whose name comes from the Italian for “fresh?”

ANSWER: FRESCO
5.
What type of chemistry is the study of carbon-ring and carbon-chain compounds?

ANSWER: ORGANIC
6.
The Great Northern War, which lasted between 1700 and 1721, was fought between Sweden and this other country for control of the Baltic region. What was this country, where reforms occurred under Peter the Great?


ANSWER: RUSSIA
Third period (continued)

7.
With what Shakespeare play are the words “pound of flash” and the character Shylock associated?

ANSWER: The MERCHANT OF VENICE
8.
Paul Hogan is best known to American movie audiences for playing what 1980s character who hailed from the Outback and starred in two movies named for him?

ANSWER: CROCODILE DUNDEE 
9.
What is the name given to a process of selective diffusion through a membrane, used to separate low-molecular-weight solutes from a high-molecular-weight solute, most often associated with patients whose kidneys have failed?

ANSWER: DIALYSIS
10.
What is the derivative with respect to x of the natural log of x?

ANSWER: 1 OVER X or THE RECIPROCAL
11.
According to the Whittier poem, who was the 80-year-old woman that allegedly waved an American flag in defiance while Stonewall Jackson’s troops marched through Frederick, Maryland?

ANSWER: BARBARA FRITCHIE
12.
Seven champions led by Polynices went against Polynices’ brother Eteocles to deprive him of the kingship of what city where Creon and Oedipius also ruled?

ANSWER: THEBES
13.
It is most frequently used in calculators and digital watch readouts where the digits are made up of these objects, and the color of the light produced depends on the crystal it uses. What is the name given to these objects, which are tiny semiconductors that produce light when an electric current is passed through it?

ANSWER: LIGHT-EMITTING DIODES
Third period (continued)

14.
THIS IS A COMPUTATION QUESTION. A store wishes to make a 40% profit on an item that cost the store $8.00. How much will it charge for this item?

ANSWER: $11.20
15.
Mississippi River traders, before the advent of the steamboat, would often return north by using what famous road which went between Nashville and the Mississippi town which shares its name with this road?

ANSWER: NATCHEZ trace

Spares

When conjugated in the present tense in English, how many forms can the verb “to be” take?

ANSWER: THREE (AM, ARE, IS)

THIS IS A COMPUTATION QUESTION. A man walked five miles due east and then twelve miles due north. How many miles would he have walked if he had just walked in a straight line?

ANSWER: 13 miles

What is the name given to a storm stronger than a tropical depression but weaker than a hurricane?

ANSWER: TROPICAL STORM
In 1282, after the death of Llewelyn ap Gruffudd, Edward I held his infant son up and proclaimed him the holder of what title, now given by custom to the oldest son of the sovereign?

ANSWER: PRINCE OF WALES
In this fictional Midwestern town, “all the women are strong, all the men are good-looking and all the children are above average.” What is this creation of Garrison Keillor, featured in the radio show A Prairie Home Companion and the self-titled Days?

ANSWER: LAKE WOBEGON (WHOH-bee-gawn)
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